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Exponents: Worksheet -6 

1) The value of 
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2) If 3x = 270 then 3x – 3 =      [ ] 

    a) 
10

1
  b) 10  c) 5  d) 

5

1
 

 

3) If 
105

4

5
x

4

5
−−

















= 

x3

4

5








then x =     [ ] 

a) 5  b) – 3  c) – 5  d) 3 

 

4) If 2n = 64 then 23n – 2 =      [ ] 
      a) (16)2  b) (16)3  c) (16)4   d) (16)5 

 

5) Which of the following is true?      [ ] 
      a) 510 > 315 b) 510 < 315 c) 510 = 315 d) 510 = 315 = 155 

 

6) 4

3

)0001.0(  =         [ ] 

      a) 0.001 b) 0.0001 c) 0.00001 d) 0.1 

 

7) If 5 ~ 2.236 then the value of 
125

100  correct to two places of decimal =

         [ ] 
      a) 8.943 b) 2.921 c) 8.944 d) 2.922 

 

8) (8) 0.3 x (8) 0.03 x (8) 0.003 x …………..  = ___________  [ ] 

      a) 1  b) 2  c) 3  d) 27 

 

9) (27) 0.3 x (27) 0.03 x (27) 0.003 x …………..  = ___________  [ ] 

      a) 1  b) 2  c) 3  d) 27 
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10) If 5x+2 = 625 then 5x-2      [ ] 

a) 5  b) 25  c) 1  d) – 5 
 

11) If 22x + 2x+2 – 32 = 0 then x =      [ ] 
     a) 1  b) 2  c) -2  d) 3  e) None 
 

12) If a1, b1, and 2ba  = ab  is satisfied by the ordered pair [ ] 
     a) (3, 27) b) (27, 3) c) (64, 4) d) (4, 64)  e) None 
 

13) If 24 + 24 + 24 +24 = 2xthen the value of x is   [ ] 

 a) 2  b) 3  c) 6  d) 5 
 

14) ( )2008
2008 =         [ ] 

 a) ( )2001
2008  b) ( )2003

2008  c) ( )1004
2008  d) none 

 

15) If x = 314, y = 221 then       [ ] 

 a) x < y b) x > y c) x = y  d) none 
 
 


